	SUN

Date:_____________      LT_____________         UTC:_____________
Lat:_________________                                 Long: ________________ 

G.H.A. at ___ h  
Incr. for ___m ___s

Required G.H.A.  

Longitude:

L.H.A.

                                       d=   
declination at ___h  
d-correction 
Required declination 
A=

B=

C=

HDG

True bearing=

MGN

True bearing(360)=

Gyro bearing=

                         
                         Compass error

                             Observed by: Rank ________ Signature ___________
	
	
MOON
Date:_____________      LT_____________         UTC: _____________

Lat:_________________                                  Long: ________________ 

                                                 v=

G.H.A. at ___ h  

Incr. for ___m ___s

v-correction

Required G.H.A.  

Longitude:

L.H.A.

                                       d=   
declination at ___h  

d-correction 

Required declination 

A=

B=

C=

HDG

True bearing=

MGN

True bearing(360)=

Gyro bearing=

                         
                         Compass error

                           Observed by: Rank ________ Signature ___________


	PLANET  _________
Date:_____________      LT_____________        UTC: _____________

Lat:_________________                                 Long: ________________ 

                                                 v=

G.H.A. at ___ h  

Incr. for ___m ___s

v-correction

Required G.H.A.  

Longitude:

L.H.A.

                                       d=   
declination at ___h  

d-correction 

Required declination 

A=

B=

C=

HDG

True bearing=

MGN

True bearing(360)=

Gyro bearing=

                         
                         Compass error

                           Observed by: Rank ________ Signature ___________
	
	
STAR  _________
Date:_____________      LT_____________         UTC: _____________

Lat:_________________                                  Long: ________________ 

G.H.A. ARIES at ___ h  

Incr. for ___m ___s

G.H.A. ARIES 
S.H.A. STAR
G.H.A. STAR

Longitude:

L.H.A.

Required declination 

A=

B=

C=

HDG

True bearing=

MGN

True bearing(360)=

Gyro bearing=

                         
                         Compass error

                           Observed by: Rank ________ Signature ___________


